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# !/usr/bin/env python3

# coding=utf8

# YCTHbIN cYéT

# MNepBbIn BapnaHT

user_number = input('BBeauTte uenoe uucno, He 6onbe 1000. \n')
repit_1 = user_number*2

repit_2 = user_number*3

answer = int(user_number)+int(repit_1)+int(repit_2)

print(answer)

# Btopow BapmaHT

user_number = input('BBeguTte yenoe yncno, He 6onble 1000. \n’)
repit_1 = user_number*2

repit_2 = user_number*3

repit_11 = int(user_number*2)

repit_21 = int(user_number*3)

user_number=int(user_number)

answer = user_number+repit_11+repit_21

print(answer)



